SRS (JEH D FR)
A IS B K &
7% 5
8:50
T HE T T HA T T HA T PRI H ST P HA ST
9:30
2 4 [ B [ G [
10:20
IS P
10:30
3 IR ERVAELY) ET = FIme g e
11:20
4 f5eiks S AR ET = HRL g KT
12:10
A =
13:00
W
5 ksl Y N T N SR
FELTED
13:50
o | HEEORE | HARRORE | HAARORE | HAARORE | RO
14:30
T
14:40

B S AR




HRAES (BRI V)
H US K N &

x5 59

8:50
AEHT AR AEHT AEH T H AEH T H

9:30
2 1 [ e [ i [
10:20

IR A
10:30
3 ke EE {ERE e Ve Ftfs
11:20
4 iy S AR (el B} (E=as eSS
12:10

*a "
13:00

TETE
5 K FIE PRAEAE ERVAGRD) PRIEAE
ZESEE)
13:50
. H & AR O fE HEAEORYE | BWAGFORYE | BHEAEORYE | HEERORY
14:30
T

14:40

B S AR




